yn. “Bacun Metnewkos”
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Bxog Tun Bpoit | Etax | 3acTpoeHa 0OM. Obwo =
CNanku MA0W KB.M. | KB.M. | KB.M.
A Anaptament A11 1 4-Tnet. 59,22 10,65 | 69,87
A AnapTament A12 1 4-TMer. 71,85 12,29 | 84,14
A AnapTament A13 1 4-Tmer. 65,51 11,09 | 76,60
riy AnapTamenT A14 1 4-TmeT. 57,95 10,01 | 67,96
riy AnapTameHT A15 1 4-Tn eT. 54,85 9,57 64,42
B AnapramenT B11 1 4-Tn eT. 53,33 9,50 62,83
B Anaprament B12 | studio | 4mmer. 46,50 828 54,78
B Anaptament B13 1 4-Tu et 56,18 9,61 65,79
B Anaptament 614 1 4-TMer. 58,61 10,03 | 68,64
B AnaprtameHT B15 1 4-Tn eT. 58,51 10,21 | 68,72




